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Variables on Both Sides - Negative Coefficients

Solving Multi-Step Equations
Werkg-co
ANSWER KEY

ﬂ% Solve the equations.

(1) 10x - 89 = “4x + 163 (2) x-93=78+10x
89 + [4x = [63 93 - 9x = 78
I4x = 252 “Ix =171
x =18 x=-19
(3) ~5x-61=59- 11x (4) 7x- 83 = 4x + 71
"6l + 6x = 59 83+ [Ix =7 | s
éx = (20 I1x = 54
x =20 x= 4%
(5) "47 + 7x = 23 + 12 (6) ~18 + 8x = 33 + 5x
47 - 5x = 23 1§+ 3x =33
“5x = 70 3x =5/
X =-/4 x=1[7
(7) -163 - 11x = 53 - 3x (8) ~6x-71=-12x + 25
163 ~ 8x = 53 “71 + éx =25
“Bx = 2/6 éx = 96
x =27 x=16
(9) -9x - 191 =85+ 3x (10) x =17 = "2x+25
191~ [2x = 85 17+ 3 =25
“12x =276 3x =42 3
X =-23 x = [4 |
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